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I. Analysis of n nwn continued: property of a non-Jew vis-a-vis pmnn
a. S8y oY) of a non-Jew have no nn»aw ( 2aren’t limited to 2K of owner or of their own locus)
i. Question: if this is according to 1117, that is obvious — if 7pan »xan have no nn»aw, certainly " *xan
Rather: must be according to 1”271 — only 7pan »xan have nnvaw, but 1”¥an, which have other owners, do not

1.Challenge: Rn»12 — R"2w1 grants Nn7av to 093 borrowed by — or returned by — " on v
2.Rather: YRmnV's statement was according to 1327

ii.

a) Justification: X"10 we give them nn»aw as precaution against YR’ *xan — Y"np
. pny 77 they have nnaw — so as not to err re:
b. 7y /1. they h v tt HRIW xaN

i. Story: rams brought to Xn7an on naw (from outside of mnn)
1. 427 permitted ®ninn "1 (within 4K — connected via 217 — to Xn31an) to take them on naw, per HRinw
2.x2227. brought 11nv *v’s ruling to his attention — then he only allowed &n37an 21 to take them
II. water channel in between 2 pminn
a. N»n ‘1. requires iron barrier (such that it is impossible to draw water from either side)

b. &2211 92 201 /1. laughed at this; per 27 — we are lenient about mx'mn over water, allowing “hanging” n¥'nn (and n7p)
III. Analysis of 2" clause in 0 mwn: definition of mnx "1

a. Query: N " (who allows only mwx *7but direction as per individual) is the same as p'n
b. Answer: p"n (n™) allows 64 sq. mny, nT? 7 only allows 16 sq mnr
c. XaT dispute is only about walking; re: carrying, all agree to limit of 8"
i. Tangent: source for mnR "1: v. 1 (nnn WX 12w - context: not leaving camp for 1n)
1.577 3 mnR of person, 1 NnR to reach out and bring an item
2.7 1. 3 mnR of person, 1 NnR to take item from beneath his feet and put beneath his head
a) Difference: exactitiude of measurement (N1’ "19, is exactly R"T)
Tangent: RwIwn "1 “set up” 8" with query: are 8”1 subjective or standard
1.If: standardized: how is this meaningful for a giant (how will he maneuver within r"7)?
2.1If: subjective — why isn’t this included in list of subjective measures (X1’ 0'92)
3. Answer (97): it is subjective — not listed because person with dwarfed limbs get standard mnx ("o7p Yv”)
IV. 1 mwn: meeting at overlap of pninn
a. If: 2 people have overlapping o’minn, may meet in the middle, but not cross over
b. If: 3 overlap, middle may meet both, and they may meet in middle but not cross over

i. "1 justlike 3 courtyards open to 1”m and middle has ny¥n 211y with each of the others
V. Analysis of ¥ mwn: pynw "v's analogy

a. Subtext: pynw 1 asks nan why they disagree with him regarding mmxn but not here
b. Answer: in case of mnxn, there are many residents, they may come to carry; here are only 3
VI. Analysis of ¥ mwn: nwnw *v's ruling about the 3 courtyards
a.Question: since the middle one joined each of the others, why aren’t all 3 joined (to carry throughout)?
i. Answerl (77777 37): each 211y is in the external 73n
ii. Anwer2 (mww "): even if in the middle; if he placed each in a different house
1.Challenge: this seems to follow v"3, who maintain that an 211 in multiple 0’9 is invalid
2. Answer: even 1”1 would invalidate this one; they only disagree about 2 0’93, not 2 separate houses (as here)
Challenge to 777’ 27's solution: once the AB 217y was made, why isn’t B a 9w for A when he joins with C?
1.Answer: by making them separate, C has demonstrated that he is only interested in joining B, not A

iv. Challenge to nww “1. why doesn’t non-participation of A prohibit B&C from carrying to each other &vice-versa?
1.Answer: P11 is used as a leniency (unified residence) but not as a stringency

ii.

iii.
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